Corrigé du 2ème partiel

Question 1

150000*1,03*1,09*0,92*0,95=147186 habitants

Question 2

Série ordonnée : 4   5   7   11   12   13   16   17   20   21   22   27   28   50   55

RangQ1=4

RangQ2=12

Q1=11

Q3=27

Écart inter-quartiles=27-11=16

Question 3

Moyenne=1,6875=1,69m

Variance= 0,0115

Écart type=0,1072

Question 4

Classe médiane: [1,60;1,70[

Classe modale: [1,70;1,80[, mais on peut parler de distribution tri-modale (classes « moins de 1,60 », [1,60;1,70[ et [1,70;1,80[)

Question 5

Voir le texte.

